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Excellence

Subject: Biology
Standard: 91159
Total score: 21
Grade
Q Marker commentary
score
M6 This response explains the function of mRNA, noting that it carries a gene
One from the DNA to the ribosome. It also describes the complementary nature of
codons and anticodons and acknowledges the importance of tRNA's stability.
E7 This response discusses the effect of the substitution mutation on the amino
Two . . . - .
acid sequence and links this to the shape and functioning of haemoglobin.
ES This response discusses the specific metabolic pathway provided and explains
how mutations in gene 1, gene 2, or both can lead to anaemia. It also
Three discusses how lead can cause anaemia by blocking enzyme 2, noting that iron

is necessary for enzyme 2 to function, and links this to changes in the rate of
haem formation.
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